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Nritt: .l Iti: iliic:iir-)ll lliillcr cr)nlaills t\\ o lliiris i\ antl B'

l)art ;\ is cunrl.rulsorr ri Itie h curries Ii rrrarlis. Attsrr er all clLrestitlrls irl [)art ,'\.

part B colsists of 5 Units. Ans*cr aur onc iLrll clurestitltl liotll cach Lttlit.

Iiach cluestiotl carrir.s l0 nrarks ancl nta) have a. b as sLrb tltlcslioll\'
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l)u.l-itiu Oltclttinil s\ slcllrs. [-ist tllc Lrll.icctir cs tll'Ollerlrlirrg Sr sterll

lliustrlte liiroLtL tict icc ccirlLrciiler all(l clri\crs.

\\'ltat are the d isaclvatltllgcs of'setllaphore.

\\ihat is a criticai scction'/ Give cratrlple.
('ont pl re i rttet:tlal artcl ertcltll I 1-r'lr Srlr c tltlrt i tlrl.

l-.xpiain llrst" best 1lt tllellrorr aLlocatitlrl techtticlLtes'

i)uilr',c thc terrrts sceli titlrc alrcl l'oLatiolral lltcrlcr.
\\ hlrt arc lhc r aliot.ts tllc acccssirl:l lllclllr)als")

l-xplain sule. Lttrsal'e anci cleacl locli state llrocess
\\'lurt lirc rlrc cortditiotts Ltsccl irl Ilarllier"s algorithrll')

l),{il'l'- l}

l.a) L:rltllLin clifl'crcut categoIie s ol-sr stcnt i:ltlls $ itll sLritatrle cratllplc

b) \\'5ar are the lirnctionalitics olOpcratinu Srsterrs'l F.rplairr in dctail.

OR
3.a) I-xplain leatures of DistribLrted Operating Systetn'

bi Wliat are the various colxponerlts of Operating System structure? And explain sirnple

layer.edapproacliofoperatingSy'stenr,ir-rdetail.

4.a) Expiain FIF-o aldlRor-rnd Robbin CPU scheclLrling algorithn-r' Why do we need?

;; Win u neat sketch explair, process state diagram' [5+5]
OR

5.a) What are the criteria lor evalr-ratirrg the CPU scheduling algorithrr?

b) What rs a process? ExplairT Process Control Block'

6a) Whar is virtLral nrernory? Discuss tlre benefrts of,virtual nrelror)'techniques'

b) What are the disadvaniages of single contiguoLLs rlerlor) allocatiorr? Explain. [5 1-5]

OR

1 .a) Consider the following page reference string

7,2,3,4,2,1,5,6,2. 1.2.3.7.6"3.2, I .1.3.6

Determine ho,o,many page faults liould occur fbr Optintal page replacetnent algorithm'

Assutrte tl.r rec I rat'nes are i n itial l1' elllpt\-'

b) DiscLtss the pt'ocedr'rre fbr page iar-rlt ir't-den''and paging' 1'515]
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ti.a) Conrllu'c ancl (, ontrast lrrree space nlauaqenrelrt ancl Su ait spacc nranagenrent.
b) DiscLrss thc inclered fllc allocation rrethod u'ith an cxanrple. 15l5l

()R.
(r.il) I)i:-rr:. rlrtiuLr: Irl,)e: r,l l)i:1, :t,,t'lrsc iltlilel]ntellt\.

[,t \\ ltrrt lt't t]tu,rlr.irctirrs,,l lllc nlltrtlr:,i:nrcrt \.\rtunl'.'I rIlrirr Illc:rsturrr ilt(ltitur:lut.c.

l5r5l i

It).u) l-.rplain cleacl locli clclcction algorithnr rr iih an erarnltlc.
b) i:rplain Lhe iechnicl Lre rrsed lo llrevent tlrc clcacl loe L. [-. -i I

()lt
I 1.a) l--xplain aboLrt deacllocli conci iLions rrnd [3linlicr's al!orjthnr in cletail.

lrt \\ r'ite tlru l,r'in.iplur ul prutc.lirrrr',' \rrrr r'\|111i11 llru ll..e .> nrirll'i\ irr ,l.'util l5 i l
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